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Inverse Trig Functions

0. f(x) =

_______

Restrict domain to be 14:

_______________

Range of restricted domain:

_____________

1. f(x) =

_______

Restrict domain to be 1-1: —

Range of restricted domain:

f1(x) =

_____________

Domain:

_____________

Range:

p

_______

fi(x) =

Domain:

Range:

‘ p
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f’(x) =

_____________

Domain:

_____________

Range:

2t

1

234

.

.
.

.

I

U I4

fl

2. f(x) =

_______

Restrict domain to be 1-1:

_______________

Range of restricted domain:

____________

:1 0



3. f(x) =

_______

=

Restrict domain to be 1-1: Domain:

____________

Range of restricted domain:

____________

Range:

0 3nIy.._4 p
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4. f(x) =

_______

f1(x) =

Restrict domain to be 1-1: Domain:

____________

Range of restricted domain:

______________
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f1(x) =

_____________

5. f(x) =

_______

Restrict domain to be 1-1:

_______________

Range of restricted domain:

Domain:

Range:

1 4
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6. f(x) =

_______

Restrict domain to be 1-1: Domain:

_____________

Range of restricted domain:

____________

Range:
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